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= B K il 1.0 | m F 21— TAKRE3AK x ¢ 10mm, [ X 13mm x 1870mm, FE/KE F I

® B E M 25.0 | m
FE B T & 1.0 |@FRr
I EHERR 1.0 | &
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Hit= : Dk=2000mm
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HR—2

B E M E G E X (I
(T 1) LET (IFE4R) NIIKEEERRALTISE
N T 1 LT 2
=7 it ® 5 & o it B 5 =
BtT EBRFHI
Tt E BT S : Dk=2000mm 28.00 m
ABhxT MEL 2750 m®
HWtT =l 3346 m° RexT
EEER BiG-XRI
FEEH =l 302.39 m? B HEEMNES 146.00 ZEm
HiuEET ElEET
VE 125 60.96 m° E/L—ILEE |[mKEEE500kg FIREES 45 60.00 m
IR ERT E/L—ILER 730 t
ERT
BREWMERT VALY —FI FA4H 521471500 302.39 m?
B R B F1—THRHIZE X ¢ 10mm EE13mm x 1§70mm FKE Kl 31.00 m
REET
1R E& B 2500 m
RBFEE 20.00 A
THEFETRIR 1.00 @R
AT ERERE 100 #




k65

No. AILTT ¥t H = FH HE %
A b * T B W * I
& A B OB
" . F B ' SO .
ABI#R -2, 4m 0.0 0.00 0.00 EE=" TERER" S
AHIER 2.4 3.50 1.75 4.20 3.00 1.50 3.60 BrEfE=" LREMHER" S8
BAIE 4.5 2.90 3.20 14.40 0.70 1.85 8.33
CiRl%3 4.5 0.50 1.70 7.65 4.20 2.45 11.03
CHl#2 +5.0m 5.0 0.00 0.25 1.25 0.00 2.10 10. 50
B 27.50 m?® 33. 46 8




B ER6-25

ARG ERTIEE 34 = it 1 =
a b c S miE
& i x5 B
(m) (m) (m) ()

1 2.6 2.8 1.0 3.20 1.30 XEtEH
2 2.8 1.3 2.0 3.05 1.18 S=(a+b+c)/2
3 2.0 5.0 4.5 5.75 4.50 Ei=56-0-0)5-0)
4 5.0 5.9 5.9 8.40 13. 36
5 5.9 7.8 4.6 9.15 13.52
6 1.8 7.0 3.2 9.00 11.19
Ji 3.2 2.9 1.0 3.55 1.44
8 2.9 2.1 5.0 5.30 3.15
9 3.1 4.1 1.3 4.25 1.47
10 4.1 2.4 2.3 4.40 2.35
11 2.3 4.8 5.9 6. 50 5.28
12 1.0 6.9 2.4 8.15 8.21
13 2.4 3.5 5.5 5.70 2.88
14 5.5 3.0 2.1 5.60 2.05
15 2.4 5.5 6.8 7.35 6.08
16 6.8 1.6 5.9 7.15 4.17
17 5.9 4.8 8.8 9.75 13.29

I\ H 95.42




B ER6-25

i S WA R T EHS w 2 FF HE =
a b c miE
B =5
(m) (m) (m) (m)
18 8.8 6. 4.8 .85 14.00
19 6.1 5. 5.2 .50 13.73
20 5.2 4. 6.9 .30 11.70
21 4.5 2. 5.3 .05 5.14
22 5.3 4. 3.5 .85 8.33
23 4.9 5. 6.3 .25 12. 61
24 3.6 2. 2.6 .50 3.62
25 2.6 3. 1.6 .60 2.08
26 3.0 4. 4.8 .25 6.76
21 5.7 4. 3.2 .10 7.18
28 3.2 2. 2.3 .05 2.96
29 2.6 3. 4.2 .20 4. 65
30 4.2 3. 5.3 .30 6. 51
31 2.8 3. 3.2 .55 3.95
32 3.2 6. 4.7 .15 1.20
33 6.4 1. 5.4 .85 4.70
34 5.4 3. 6.1 .25 8.10
I H 123. 22




B ER6-25

ST iER THE #w B H B =
a b c [T
& i =
(m) (m) (m) (m)
35 6. 1. 4.5 .25 13. 67
36 1. 3. 1.7 .10 14. 35
37 1. 6. 3.6 .90 11. 66
38 6. 0. 6.7 .05 2.89
39 5. 4. 3.0 .50 7.01
40 4. 4. 7.9 .40 8.08
41 1. 1. 1.7 .35 4.21
42 1. 1. 1.6 .60 1.20
43 1. 6. 3.8 .95 12. 35
44 6. 6. 0.9 .10 2.33
N =t 83.75
a E 302. 39 = 302. 4




Bt E6-25

w = # B

B HEKH i%
£ {1 = it -1 = B = fis =
= HE KA Fa—TARE3AEK X ¢ 10mm,[EE13mm x 1870mm, E/KE Fr {8l 3100 m "EAZWTERIZERIR"SER




Bt E6-25

£ 5 = Hi = B = i
ES-ERd L &7 : Dk=2000mm TIREEERSR
1% H 6.00m 6.00 m
22 H 6.00m+5.00m 11.00 m
3EX B 5.00m+6.00m 11.00 m

28.00 m




B ER6-25

% = =
T ] = 5 =] =
g E 5 B g =X Hn = fi& =
{RERBHEEMR 2500 m EELHERTSER
REFER 1.0A x20.08 ({R &% A BHEMRER) 20.00 A
REERHEMSEX
il @ I @
‘ T T I fk’
BRI ST //
BEEIR ™ Eﬁﬂi‘/:"‘:: I
§ BRI ST Z[
| #hith i TPaqh,
/|
|t Hx hs o REBMBEHRER om iy
T | T k- Tk | B| W B
I N I AT 1000 48. 6% 2 4mm | & 110. 00
| RET T 1 [ T =5 [ [ Rel [ Jad [ [ =¢ CECEPE 548 67 & §0.00
EXHS5LT Y * wEs5VT non ~ s BEISVT ¢ 48. 6/ 1& 20.00
A FToaqLv b »48. 6/ 1 70.00
BEETIR 3.0mx0.3mx0. 1m [ m, % 30.0, 33.3
BTAT BT4T
BRI HE(ESI RIS 48.0+52.0+46.0ZE m(1+2+3E% B) 146.00 ZZm "EBETHM HE=EAEE"SHE
E/L—ILEEE RARIEE = :500kg, ZIRAES 45 60.00 m "
E/L—ILEHE ERRFHMEH 0.7+1.0+1.0(1+2+3E% B) 270 t PERTHR MEHEE R BBEMNEE SE
B1544146.00ZEm X 3.15t/100ZE m 46t "




BT UM SR

1B H

i TIE R :6.0m



EHTHM 1BE KEREXR
T Gl Bk HAL | = LS
7 AR E SRS T T — TypeA (¢ 114.3 t=6.0 L=2400) i 2
FohT w7 I—1 NZAZ ¢ 10 = 2000 X 6000 il 1
0—77 vt 7Y—1 6 18X2 ~ ¢ 18X2 - 6000 #il 1
IKHEHEET I —T e TV — SD345 D29 L=1000 i 2
W T =T o 7Y — SD345 D29 1.=2000 il 2
PART =T vt TV— SD345 D29 1.=2000 il 2
Z7xU AT SRR E L EN 2
TA¥u—7 T m 6.0
TAY Ty MR E L N&#A7 m 6.0
AR A T N7 m 6.0
SR E LA NATR T B E L2 L m3 0.04
T —T 7 —HIHL LT Ly RUMAE VRE T m 18.8
I MEANL Ly RUVAE m 18.8
AR FIRAR/LRT R A kg 369
IRA0H ~ A —my7FLC400 L 3.7
5T 25T RS ZZm3 |  48.0
fr 5 L s L E/L— /Ui t 0.7




EHTUM 1B R ¥EHHIR

10.

11.

12.

. WRREAET BT —
TypeA (¢ 114.3 t=6.0 L=2400)
S SAVS S|

N&ZAZ ¢ 10 - 2000 X 6000

o—77 ot 7U—1

¢ 18X2 - ¢ 18X2 - 6000

KRR T v I —T v TV —
SD345 D29 1.=1000
W7 > F—7 ' 7Y —
SD345 D29 1.=2000
YART =T o TY—
SD345 D29 1.=2000
SCRERRE T

B HitiEi2.0m

UAYn—73HE T

Hifg: NZAT

ST L2 VFR L

FiA: HEUAFE L XV

Tk 0.60m X 0.60m X 0.05m
R FE: V=

SN IV =V X XA =

2V =0.018 X 2 =N =izl HN)

T h—HIFLL

2 K

6.0 m

6.0 m

6.0 m

0.018 m3

0.04 m3



13.

FAEELER T A —HI LT

HIlFLER: ¢ 65

HIFLE:

1 V¥E +
L:7>—myRE -0.1m =
NASL =

L=L XN=
SL1=L X fEprdk =
2L1=18 X 2

(LRl A —HElFL T

HIFLES: ¢ 65

HIFLE:

B V¥E +
L:7>—myRE -0.1m =
NAEL =

L=L XN=
Y1L2=1 X fEprdk =
2L2=3.8 X2

HART L H—HIFL L

HIFLES: ¢ 65

HIFLE:

B V¥E +
L:7vh—ayRE -0.Im=
NASL =

L=L XN=

YL3=1L X fErkk =

21L3=3.8 X2
JIUMNEAT

HIFLE:L= L1+ L2+ XL3=

0.9 m
2 A

1.8 m

3.6 m

1.9 m
2 AR

3.8 m

7.6 m

1.9 m
2 A

3.8 m

7.6 m

18.8 m



14.

15.

TAB

AR T —1EA T
HIFLAR:
A4 7= DI FLE: |
HIHELREL
1T S 7=V DIEANE:

V1 = 0.03 X &k =

L7 > B —3FE AL
HIFLAR:
LRS- DI FLE:
FIHELREL
1T S 7=V DIEANE:

SV = 0.06 X &k =

PART o H—EAT
HI|FLEE:
LTS 720 DOHIFLE |
HIEREC
LIRS 7=0 DA &
YV3= 0.06 X fEHFTE =

TAVREV =

AT

N = BEAVNERE X 1% =

¢ 65

1.8m

5 (MY +=5, WoE -5 =3)
/4 X 0.0652 X 1.8 X 5=
0.03 X 2=

¢ 65

3.8m

5 (MY +=5, WoE -5 =3)
/4 X 0.0652 X 3.8 X 5=
0.06 X 2=

¢ 65

3.8m

5 (MY +=5, WoE -5 =3)
/4 X 0.0652 X 3.8 X 5=
0.06 X 2=

(ZV1+ EV2+ XV3) X 1230kg/m3 =

0.03 m3
0.06 m3

0.06 m3
0.12 m3

0.06 m3
0.12 m3

369 kg

3.7L



16. 2% T

RRREIEREEEL
SR8
SRLHLLLLRRLKS
SRRKELHLLEES
DRI
0’0’0’0’0’:”0’0‘
RIS

L3 L1 L3
Lt
B1: (LAl 2 g = 2.0 m
B2: Ml 2 g = 2.0 m
L1:Jii TIEE = 6.0 m
L2: LRI AE = B = 2.0 m
L3: (L - s, = 3.0m
N: MBI 7> — 8 AT = 2 T

Lt: A2 SHE & = L1 THEE + 2 X L3: L4l sl e
= 6+2.0 X 3.0= 12.0 m



<L
AL =
V1 ARFE =

<EED>
A2: W FE =
VPR =

<HEE
SV=VI+V2 =

B L — LERE

i CEFEX LD 3.0 m2
AL:Wrm A X L2: (LA BB X N L o> A — & Ak

3.0 X 2.0 X 2= 12.0 Z%m3
i CEFEX LD 3.0 m2
A2: MRS X Lt ERIEE

3.0 X 12 = 36.0 Z%m3
12 + 36 = 48.0 ZZm3

N = 0.7t



EBTUM 1B AOBEER X

AV

oL

B0 Kk (AR =S HAL | A (ke) i; e
Uit oA+ H TS AR A STK400 ¢ 114.3 t=6.0 L.=2400 HDZT77 %N 2 45.9 91.8 JIS G 3444, JIS G 3101
¥y SS400 ¢ 130 t=9 HDZT77 1 2 1.9 3.8 JIS G 3101
_R—2FL—hE $S400 500 X 500 t=12 HDZT77 1l 2 34.1 68.2 JIS G 3101
BRURL $S400 M12 1.=180 HDZT49 EN 2 0.2 0.4 JIS G 3101
ERERLE S$S400 M24 1.=270 HDZT49 ¥N 2 1.4 2.8 JIS G 3101
Syl S45CHHY KG-109-1 HDZT77 1 12 2.3 27.6 JIS G 4051
PGS SN FC6X24 ¢ 10 H=2000 1.=6000 AZ/O # 1 23.9 23.9 JIS G 3525
[ONS5 25 7-GST ¢ 2.6-50 X 50 H=2200 g >%380g/m2Lh 1| m2 14.5 2.5 36.3 JIS G 3552
UA¥ra—TF FC6X24 ¢ 12 1.=4500 TC AZ/O ¥N 2 2.3 4.6 JIS G 3525
JIA¥a—7 FC6X24 ¢ 12 1.=8000 EC AZ/O EN 1 4.1 4.1 JIS G 3525
UA¥a—7F FC6X24 ¢ 18 1.=1950 EE AZ/O ¥N 4 3.4 13.6 JIS G 3525
JIA¥a—7 FC6X24 ¢ 18 .=4500 TC AZ/O EN 2 5.5 11.0 JIS G 3525
UA¥ra—F FC6X24 ¢ 18 L.=5500 EC AZ/O ¥N 4 6.6 26.4 JIS G 3525
JIA¥a—7 FC6X24 ¢ 18 1.=8500 EC AZ/O EN 4 9.8 39.2 JIS G 3525
UA¥ra—TF FC6X24 ¢ 22 1.=5500 EC AZ/O ¥N 2 9.9 19.8 JIS G 3525
IAY VT SS4004H4 F12 HDZT49 1 12 0.2 2.4 JIS B 2809
IAY IV~ SS400#H4 F18 HDZT49 1l 50 0.5 25.0 JIS B 2809
TAY VS SS400#A*4 F20-22 HDZT49 1 10 0.8 8.0 JIS B 2809
DI SS4004H 4 A-12 (B 0 7%Y) HDZT49 1l 2 0.1 0.2 -
ST SS4004H4 A-18 (B 1 74Y) HDZT49 1 6 0.3 1.8 -
LTI SS4004H 4 A-22 (B 1 7%Y) HDZT49 1l 2 0.5 1.0 -
DR S45CHHY KG-109-5/8 HDZT77 1 4 0.7 2.8 JIS G 4051
DR SCPEUN6 HDZT77 1l 34 0.6 20.4 JIS B 2801444
fEaaAan SWMGS-7 ¢ 4.0-70 X300 Higpsn~%400g/m2Ll 1| 28 0.2 5.6 JIS G 3547
Ty I =Lk SD345 D29 1.=1000 HDZT77 ¥N 20 5.0 100.0 JIS G 3112
R FCAD900-8 D29H HDZT49 1 16 0.5 8.0 JIS G 5503
T ih 4 FCAD900-8 ¢ 74.5 HDZT49 il 12 0.3 3.6 JIS G 5503
T T T— FCAD900-8 D29 HDZT49 1 8 0.3 2.4 JIS G 5503
AL—Hp— SK85 ¢ 65 Ep-Fe/Zn5/CM1 il 16 0.1 1.6 -
el vy AYF L D29 PES SR 1 12 0.1 1.2 -
Ty =T —k $S400 300 X 400 t=25 HDZT77 1l 4 27.0 108.0 JIS G 3101
T —h $S400 600 X 600 t=4.5 HDZT63 1 2 12.7 25.4 JIS G 3101

HEAR®

0.7 (t)




BT UM SR

2B H

i TAEF:11.0m



EH T 2B HKERER

T T Biks AL | S ILES
7 = AR AR IRET v T — TypeA (¢ 114.3 t=6.0 .=2400) A 2
HSHT v T ) — TypeA (¢ 114.3 t=6.0 L=2400) i 1
FohT v TI—1 NZAZ ¢ 10 = 2000 X 6000 i 1 Z'vv/No.1
Fo T T Y2 NZAZ ¢ 10 = 2000 X 5000 i 1 Z'vv/No.1

0—7 7y 7Y —2 $18X2 ~ ¢ 18%X2 - 11000 L 1
KR T v —T 7Y — SD345 D29 1.=1000 A 3
W7 > =T 7Y — SD345 D29 1.=2000 i 3
PART =T 7Y — SD345 D29 1.=2000 i 2
TV AT KRR E T %N 3

UAYu—7HRET m 11.0

TAY Ry N T NgAT m 11.0

Sl iE L NgAT m 11.0

ESIREE T L2 AT T SEIT HEE L 2L m3 0.05

Toh—T. 7oA —HIHLL Ly 7 RUVAE ] VAR 1 m 24.4

JIYMEAL Ly Z RULAEH m 24.4

AU FgAR VR TR AC S kg 479.7

RN ~ AL —yZFLC400 L 4.8

2L 2L EETiap ey 2¢m3 | 52.0
s L g mm E/L— /Ui t 1.0




SR T 2B ¥EHEHIRL

10.

11.

12.

- IRARSHET v T —

TypeA (¢ 114.3 t=6.0 .=2400)

ST v 7 —

TypeA (¢ 114.3 t=6.0 1.=2400)

T TY—1

N&ZAT ¢ 10 - 2000 X 6000

ESANVEA NS B

NZA~7 ¢ 10 — 2000 X 5000
. =TT TY—2

¢ 18X2 - ¢ 18X2 - 11000

TR T =T T —
SD345 D29 L.=1000
HLHAT > B —T o T —

SD345 D29 L.=2000

. YART =TT —

SD345 D29 L.=2000
SRR E T

B HitiEi2.0m

UAYn—73HE T

Hiks NFAT
R [ T
Hiks NFAT

N

N

IR

11.0 m

11.0 m

11.0 m



13.

14.

15.

SR LAV TR L
HIRS MV HEE L2 L
TR 0.60m X 0.60m X 0.05m
! V=
EXUN SV =V X TR =
XV =0.018 X 3 =CNEEE =M1z VUssFA)
7 A—HFL LT
AT —HI LT
HIlFLEE: ¢ 65
HIlFLE::
+&: VHE +
L:7vh—ayRE - 0.1m =
N:AS =
L=L X N=
SL1=L X fEprkk =
2L1=18 X3
LA > A —HIFL T
HIlFLEE: ¢ 65
HIlFLE::
+&: VHE+
L:7vh—ayRE - 0.1m =
N:AS =
L=L X N=
YL2=1 X fErdk =
212=3.8 X3
Y ART > —HIFL LT
HIlFLEE: ¢ 65
HIlFLE::
+&: VHE +
L:7>—myRE -0.1m =
N:AS =
L=L X N=
YL3=1L X fErkk =
213=3.8 X2
TIUNEANL
HIFLE:L= LI+ XL2+ XL3=

0.018 m3

0.05 m3

0.9 m
2 AR

1.8 m

54 m

1.9 m
2 A

3.8 m

11.4 m

1.9 m
2 A

3.8 m

7.6 m

24.4 m



16.

17.

TAB

AR T —1EA T
HIFLAR:
A4 7= DI FLE: |
HIHELREL
1T S 7=V DIEANE:

V1 = 0.03 X &k =

L7 > B —3FE AL
HIFLAR:
LRS- DI FLE:
FIHELREL
1T S 7=V DIEANE:

SV = 0.06 X &k =

PART o H—EAT
HI|FLEE:
LTS 720 DOHIFLE |
HIEREC
LIRS 7=0 DA &
YV3= 0.06 X fEHFTE =

TAVREV =

AT

N = BEAVNERE X 1% =

¢ 65

1.8m

5 (MY +=5, WoE -5 =3)
/4 X 0.0652 X 1.8 X 5=
0.03 X 3=

¢ 65

3.8m

5 (MY +=5, WoE -5 =3)
/4 X 0.0652 X 3.8 X 5=
0.06 X 3=

¢ 65

3.8m

5 (MY +=5, WoE -5 =3)
/4 X 0.0652 X 3.8 X 5=
0.06 X 2=

(ZV1+ EV2+ XV3) X 1230kg/m3 =

0.03 m3
0.09 m3

0.06 m3
0.18 m3

0.06 m3
0.12 m3

479.7 kg

4.8 L



18. B&5T

RRREIEREEEL
SR8
SRLHLLLLRRLKS
SRRKELHLLEES
DRI
0’0’0’0’0’:”0’0‘
RIS

L3 L1 L3
Lt
B1: (LAl 2 g = 2.0 m
B2: Ml 2 g = 2.0 m
L1:JiE TR = 11.0 m
L2: LRI 4E & PR = 2.0 m
L3: (L - s, = 3.0m
N: LRI > — s = 3 AT

Lt: A2 SHE & = L1 THEE + 2 X L3: L4l sl e
= 11+2.0 X 3.0= 17.0 m



<L
AL
V1 ARFE

<EAED>
A2: W FE
VPR

<HEE
SV=VI+V2

FJL— LSE

i CEFEX LD
AL:Wrm A X L2: (LA BB X N LR o> A — & Ak
3.0 X 2.0 X 3=

Jiti 5[ k0

A2:WEFE X LtV R B RE
2.0 X 17 =

18 + 34 =

3.0 m2

18.0 Z%m3

2.0 m2

34.0 Z%m3

52.0 Z%m3

1t



ERTUM 2BtE AOBEHER X

2 ik ik A I Bl B W%
Uit oA+ H TS AR A STK400 ¢ 114.3 t=6.0 .=2400 HDZT77 EN 2 45.9 91.8 JIS G 3444, JIS G 3101
i SckE STK400 ¢ 114.3 t=6.0 1.=2400 HDZT77 EN 1 45.3 45.3 JIS G 3444, JIS G 3101
IHEF vy SS400 ¢ 130 t=9 HDZT77 1A 3 1.9 5.7 JIS G 3101
_R—27FL—FE $$400 500 X 500 t=12 HDZT77 1 2 34.1 68.2 JIS G 3101
N—2FL—IM $S400 500 X 500 t=12 HDZT77 1 1 29.5 29.5 JIS G 3101
BRURL $S400 M12 1.=180 HDZT49 EN 3 0.2 0.6 JIS G 3101
ERERLE S$S400 M24 1.=270 HDZT49 EN 3 1.4 4.2 JIS G 3101
Syl S45CHHY KG-109-1 HDZT77 1 15 2.3 34.5 JIS G 4051
PRGSO FC6X24 ¢ 10 H=2000 1.=5000 AZ/O # 1 19.9 19.9 JIS G 3525
PZEME S FC6X24 ¢ 10 H=2000 L.=6000 AZ/O e 1 23.9 23.9 JIS G 3525
UL A4 7-GST ¢ 2.6-50 X 50 H=2200 Hif0 >%380g/m2LL 1| m2 26.6 2.5 66.5 JIS G 3552
JIA¥a—7 FC6X24 ¢ 12 1.=4500 TC AZ/O EN 3 2.3 6.9 JIS G 3525
UA¥ra—F FC6X24 ¢ 12 1.=7000 EC AZ/O ¥N 1 3.6 3.6 JIS G 3525
JIA¥a—7 FC6X24 ¢ 12 1.=8000 EC AZ/O EN 1 4.1 4.1 JIS G 3525
UA¥ra—TF FC6X24 ¢ 18 1.=14000 EC AZ/O ¥N 4 15.8 63.2 JIS G 3525
JIA¥a—7 FC6X24 ¢ 18 1.=1950 EE AZ/O EN 4 3.4 13.6 JIS G 3525
UA¥a—7F FC6X24 ¢ 18 L.=4500 TC AZ/O ¥N 2 5.5 11.0 JIS G 3525
JIA¥a—7 FC6X24 ¢ 18 1.=5500 EC AZ/O EN 4 6.6 26.4 JIS G 3525
UA¥ra—F FC6X24 ¢ 22 1.=5500 EC AZ/O ¥N 3 9.9 29.7 JIS G 3525
RO SS4004H4 F12 HDZT49 1 20 0.2 4.0 JIS B 2809
IAXY 7V~ SS4004H4 F18 HDZT49 1 50 0.5 25.0 JIS B 2809
IAX IV SS4004H%4 F20-22 HDZT49 1] 15 0.8 12.0 JIS B 2809
LTI SS4004H 4 A-12 (B 1 7%Y) HDZT49 1 3 0.1 0.3 -
ST SS4004H4 A-18 (B 1 4Y) HDZT49 1 6 0.3 1.8 -
DI SS4004H 4 A-22 (B 1 7%Y) HDZT49 1 3 0.5 1.5 -
DR S45CHHY4 KG-109-5/8 HDZT77 1 6 0.7 4.2 JIS G 4051
DR SCPEUN6 HDZT77 1 60 0.6 36.0 JIS B 2801444
fEGaAn SWMGS-7 ¢ 4.0-70 X 300 Higpsn-%400g/m2Ll 1| 46 0.2 9.2 JIS G 3547
Ty I —Rrh SD345 D29 1.=1000 HDZT77 EN 26 5.0 130.0 JIS G 3112
R FCAD900-8 D291 HDZT49 1 22 0.5 11.0 JIS G 5503
T ih 4 FCAD900-8 ¢ 74.5 HDZT49 1A 16 0.3 4.8 JIS G 5503
T T T— FCAD900-8 D291 HDZT49 1 10 0.3 3.0 JIS G 5503
AL—Hp— SK85 ¢ 65 Ep-Fe/Zn5/CM1 1A 20 0.1 2.0 -
e AYF L D29 PES SR 1 16 0.1 1.6 -
Ty =T —k $S400 300 X 400 t=25 HDZT77 1 5 27.0 135.0 JIS G 3101
T —h $S400 600 X 600 t=4.5 HDZT63 1 3 12.7 38.1 JIS G 3101

HEAR®

1(t)




BT UM SR

3B H

i TAEF:11.0m



ERH T SBE HKERER

T T Biks AL | S ILES
7 = AR AR IRET v T — TypeA (¢ 114.3 t=6.0 .=2400) A 2
HSHT v T ) — TypeA (¢ 114.3 t=6.0 L=2400) i 1
FohT v TI—1 NZAZ ¢ 10 = 2000 X 6000 i 1 Z'vv/No.1
Fo T T Y2 NZAZ ¢ 10 = 2000 X 5000 i 1 Z'vv/No.1

0—7 7y 7Y —2 $18X2 ~ ¢ 18%X2 - 11000 L 1
KR T v —T 7Y — SD345 D29 1.=1000 A 3
W7 > =T 7Y — SD345 D29 1.=2000 i 3
PART =T 7Y — SD345 D29 1.=2000 i 2
TV AT KRR E T %N 3

UAYu—7HRET m 11.0

TAY Ry N T NgAT m 11.0

Sl iE L NgAT m 11.0

ESIREE T L2 AT T SEIT HEE L 2L m3 0.05

Toh—T. 7oA —HIHLL Ly 7 RUVAE ] VAR 1 m 24.4

JIYMEAL Ly Z RULAEH m 24.4

AU FgAR VR TR AC S kg 479.7
RN ~ AL —yZFLC400 L 4.8

25T BT EETiap ey Z¢m3|  46.0 T35 AT

s L g mm E/L— /Ui t 1.0




SR T 3B R ¥EHHIRIL

10.

11.

12.

- IRARSHET v T —

TypeA (¢ 114.3 t=6.0 .=2400)

ST v 7 —

TypeA (¢ 114.3 t=6.0 1.=2400)

T TY—1

N&ZAT ¢ 10 - 2000 X 6000

ESANVEA NS B

NZA~7 ¢ 10 — 2000 X 5000
. =TT TY—2

¢ 18X2 - ¢ 18X2 - 11000

TR T =T T —
SD345 D29 L.=1000
HLHAT > B —T o T —

SD345 D29 L.=2000

. YART =TT —

SD345 D29 L.=2000
SRR E T

B HitiEi2.0m

UAYn—73HE T

Hiks NFAT
R [ T
Hiks NFAT

N

N

IR

11.0 m

11.0 m

11.0 m



13.

14.

15.

SR LAV TR L
HIRS MV HEE L2 L
TR 0.60m X 0.60m X 0.05m
! V=
EXUN SV =V X TR =
XV =0.018 X 3 =CNEEE =M1z VUssFA)
7 A—HFL LT
AT —HI LT
HIlFLEE: ¢ 65
HIlFLE::
+&: VHE +
L:7vh—ayRE - 0.1m =
N:AS =
L=L X N=
SL1=L X fEprkk =
2L1=18 X3
LA > A —HIFL T
HIlFLEE: ¢ 65
HIlFLE::
+&: VHE+
L:7vh—ayRE - 0.1m =
N:AS =
L=L X N=
YL2=1 X fErdk =
212=3.8 X3
Y ART > —HIFL LT
HIlFLEE: ¢ 65
HIlFLE::
+&: VHE +
L:7>—myRE -0.1m =
N:AS =
L=L X N=
YL3=1L X fErkk =
213=3.8 X2
TIUNEANL
HIFLE:L= LI+ XL2+ XL3=

0.018 m3

0.05 m3

0.9 m
2 AR

1.8 m

54 m

1.9 m
2 A

3.8 m

11.4 m

1.9 m
2 A

3.8 m

7.6 m

24.4 m



16.

17.

TAB

AR T —1EA T
HIFLAR:
A4 7= DI FLE: |
HIHELREL
1T S 7=V DIEANE:

V1 = 0.03 X &k =

L7 > B —3FE AL
HIFLAR:
LRS- DI FLE:
FIHELREL
1T S 7=V DIEANE:

SV = 0.06 X &k =

PART o H—EAT
HI|FLEE:
LTS 720 DOHIFLE |
HIEREC
LIRS 7=0 DA &
YV3= 0.06 X fEHFTE =

TAVREV =

AT

N = BEAVNERE X 1% =

¢ 65

1.8m

5 (MY +=5, WoE -5 =3)
/4 X 0.0652 X 1.8 X 5=
0.03 X 3=

¢ 65

3.8m

5 (MY +=5, WoE -5 =3)
/4 X 0.0652 X 3.8 X 5=
0.06 X 3=

¢ 65

3.8m

5 (MY +=5, WoE -5 =3)
/4 X 0.0652 X 3.8 X 5=
0.06 X 2=

(ZV1+ EV2+ XV3) X 1230kg/m3 =

0.03 m3
0.09 m3

0.06 m3
0.18 m3

0.06 m3
0.12 m3

479.7 kg

4.8 L



18. B&5T

RRREIEREEEL
SR8
SRLHLLLLRRLKS
SRRKELHLLEES
DRI
0’0’0’0’0’:”0’0‘
RIS

L3 L1 L3
Lt
B1: (LAl 2 g = 2.0 m
B2: Ml 2 g = 2.0 m
L1:JiE TR = 11.0 m
L2: LRI 4E & PR = 2.0 m
L3: (L - s, = 3.0m
N: LRI > — s = 3 AT

Lt: A2 SHE & = L1 THEE + 2 X L3: L4l sl e
= 11+2.0 X 3.0= 17.0 m



<L
AL
V1 ARFE

<EAED>
A2: W FE
VPR

<HEE
SV=VI+V2

FJL— LSE

i CEFEX LD
AL:Wrm A X L2: (LA BB X N LR o> A — & Ak
2.0 X 2.0 X 3=

Jiti 5[ k0

A2:WEFE X LtV R B RE
2.0 X 17 =

12 +34 =

2.0 m2

12.0 Z%m3

2.0 m2

34.0 Z%m3

46.0 Z£m3

1t



ERTUM 3BE AOBEHER X

2 ik ik A I Bl B W%
Uit oA+ H TS AR A STK400 ¢ 114.3 t=6.0 .=2400 HDZT77 EN 2 45.9 91.8 JIS G 3444, JIS G 3101
i SckE STK400 ¢ 114.3 t=6.0 1.=2400 HDZT77 EN 1 45.3 45.3 JIS G 3444, JIS G 3101
IHEF vy SS400 ¢ 130 t=9 HDZT77 1A 3 1.9 5.7 JIS G 3101
_R—27FL—FE $$400 500 X 500 t=12 HDZT77 1 2 34.1 68.2 JIS G 3101
N—2FL—IM $S400 500 X 500 t=12 HDZT77 1 1 29.5 29.5 JIS G 3101
BRURL $S400 M12 1.=180 HDZT49 EN 3 0.2 0.6 JIS G 3101
ERERLE S$S400 M24 1.=270 HDZT49 EN 3 1.4 4.2 JIS G 3101
Syl S45CHHY KG-109-1 HDZT77 1 15 2.3 34.5 JIS G 4051
PRGSO FC6X24 ¢ 10 H=2000 1.=5000 AZ/O # 1 19.9 19.9 JIS G 3525
PZEME S FC6X24 ¢ 10 H=2000 L.=6000 AZ/O e 1 23.9 23.9 JIS G 3525
UL A4 7-GST ¢ 2.6-50 X 50 H=2200 Hif0 >%380g/m2LL 1| m2 26.6 2.5 66.5 JIS G 3552
JIA¥a—7 FC6X24 ¢ 12 1.=4500 TC AZ/O EN 3 2.3 6.9 JIS G 3525
UA¥ra—F FC6X24 ¢ 12 1.=7000 EC AZ/O ¥N 1 3.6 3.6 JIS G 3525
JIA¥a—7 FC6X24 ¢ 12 1.=8000 EC AZ/O EN 1 4.1 4.1 JIS G 3525
UA¥ra—TF FC6X24 ¢ 18 1.=14000 EC AZ/O ¥N 4 15.8 63.2 JIS G 3525
JIA¥a—7 FC6X24 ¢ 18 1.=1950 EE AZ/O EN 4 3.4 13.6 JIS G 3525
UA¥a—7F FC6X24 ¢ 18 L.=4500 TC AZ/O ¥N 2 5.5 11.0 JIS G 3525
JIA¥a—7 FC6X24 ¢ 18 1.=5500 EC AZ/O EN 4 6.6 26.4 JIS G 3525
UA¥ra—F FC6X24 ¢ 22 1.=5500 EC AZ/O ¥N 3 9.9 29.7 JIS G 3525
RO SS4004H4 F12 HDZT49 1 20 0.2 4.0 JIS B 2809
IAXY 7V~ SS4004H4 F18 HDZT49 1 50 0.5 25.0 JIS B 2809
IAX IV SS4004H%4 F20-22 HDZT49 1] 15 0.8 12.0 JIS B 2809
LTI SS4004H 4 A-12 (B 1 7%Y) HDZT49 1 3 0.1 0.3 -
ST SS4004H4 A-18 (B 1 4Y) HDZT49 1 6 0.3 1.8 -
DI SS4004H 4 A-22 (B 1 7%Y) HDZT49 1 3 0.5 1.5 -
DR S45CHHY4 KG-109-5/8 HDZT77 1 6 0.7 4.2 JIS G 4051
DR SCPEUN6 HDZT77 1 60 0.6 36.0 JIS B 2801444
fEGaAn SWMGS-7 ¢ 4.0-70 X 300 Higpsn-%400g/m2Ll 1| 46 0.2 9.2 JIS G 3547
Ty I —Rrh SD345 D29 1.=1000 HDZT77 EN 26 5.0 130.0 JIS G 3112
R FCAD900-8 D291 HDZT49 1 22 0.5 11.0 JIS G 5503
T ih 4 FCAD900-8 ¢ 74.5 HDZT49 1A 16 0.3 4.8 JIS G 5503
T T T— FCAD900-8 D291 HDZT49 1 10 0.3 3.0 JIS G 5503
AL—Hp— SK85 ¢ 65 Ep-Fe/Zn5/CM1 1A 20 0.1 2.0 -
e AYF L D29 PES SR 1 16 0.1 1.6 -
Ty =T —k $S400 300 X 400 t=25 HDZT77 1 5 27.0 135.0 JIS G 3101
T —h $S400 600 X 600 t=4.5 HDZT63 1 3 12.7 38.1 JIS G 3101

HEAR®

1(t)




100ZE8m3X4 7=

Btttk
fRaYcif=] £ A =]
B4 {EFEEEm
RIBEFR TE#kfErE kg
BEF4

R e B8(kg) [EEAET(kg R e BE(kg) [EBAE(Kkg)
43,600 13.1 0.0 |BE(TS) 0.5 0.0
4%2,700 10.0 0.0 |BA(K) 50 0.7 35.0
4£1,800 6.9 0.0 [)L—I~R—2X 1.8 0.0
3245900 3.7 0.0 |ZvvF 50 2.9 145.0
$4£450 2.2 0.0 |BESvYF 3.0 0.0
2O Wil 3.2 0.0 |EBvvF 2.3 0.0
1OE & 1.8 0.0 |EfEHILE— 1.1 0.0
441,800 4.6 0.0 |FB=T 0.7 0.0
441,500 3.8 0.0 |54 w 600 2.7 0.0
441,200 3.1 0.0 |54 w ~400 2.0 0.0
F48900 2.5 0.0 |3EHT'S600 3.3 0.0
F8600 1.8 0.0 3EHT'S400 2.7 0.0
F8400 1.3 0.0 |3EHT'S5200 1.8 0.0
FE300 1.1 0.0 |%4T7F481,800 6.7 0.0
F8200 0.9 0.0 |%4TF#81,500 5.6 0.0
8100 0.7 0.0 |%&47F481,200 4.5 0.0
251%1,800 13.1 0.0 |%4TFE00 3.4 0.0
#5#R1,500 11.4 0.0 |%&4TFE600 2.2 0.0
#HR1,200 9.6 0.0 |1E+44,000 3.5 0.0
2HRO00 7.7 0.0 |#842,000 1.8 0.0
2HR600 5.8 0.0 |18A1,200 1.1 0.0
R400 5.2 0.0 |#84900 0.8 0.0
4R/ \— 21,800 9.2 0.0 |1EAR600 0.5 0.0
2R/ \— 21,500 8.1 0.0 |1EA400 0.4 0.0
2%/ \— 21,200 6.9 0.0 |B4R4,000 80 12.0 960.0
R \— 2900 5.5 0.0 |B#R2,000 20 6.0 120.0
%R/ \— 2600 4.3 0.0 |#B&4R4,000 14.0 0.0
2%/ \— 2400 3.9 0.0 |$M&4%3,000 10.6 0.0
12424 21.3 0.0 |$E&4R2,000 7.0 0.0
PEER/\—T 11.7 0.0 |fM&4R1,500 5.3 0.0
P e 15.0 0.0 |$M&4R1,000 3.5 0.0
3z 4.5 0.0 [BXRO5>T 260 0.7 182.0
~523,600 25.2 0.0 |BEIS>T 120 0.7 84.0
~525,400 37.9 0.0 |FrvFos5>T 1.1 0.0
BiEE5,000 13.5 0.0 |Z3r>k 40 0.6 24.0
184,500 12.2 0.0 |HE~R—XR 0.8 0.0
BiE4,000 80 10.8 864.0 |#18E1,500 5 4.3 21.5
3,500 9.5 0.0 |BEEDIRE( )
BiE3,000 40 8.1 324.0 |BEDIRE|( )
BiE2,500 6.8 0.0 |BEDIRE( )
BiE2,000 20 5.4 108.0 |BEDIRE( )
BE1,500 50 4.1 205.0 |55
BiE1,000 30 2.7 81.0 |t—DF7«J0OvYo
BE500 30
Aw>33—11,800
Aw 13— k1,500
Awa3—K1,200
Aw313>— kK900
A2 2= 1600 wER 3153.5 kg
Aw>73— K300




